N & 0l & AF & F Al A

2N NS
HE: FOIMY MO CO(UUDTHE/UNHNT)
EH9l: Z0I R ALY (ol @2
- _ _ NUE &
SN HH . C(B) - MRAY - BHS Ofl & 04 Gl b8 SImE=F}
II-T.-E e 239,159 253,527 A 14,368
HO SR (Y2 d™ 136,840 147,820 A~ 10,980
A 50,000 50,000 0
OI==RIAIS AlEH 50,000 50,000 0
401 AlEHIL ST 50,000 50,000 0
01 Al&H| 50,000 50,000 0
Oanl2 =0=3 50,000, 000& 50,000
HEMEIA M3 86,840 97,820 A~ 10,980
LA HEMHIA WS 86,840 97,820 A 10,980
201 LetEHH| 3,600 9,000 5,400
01 AtER22/Hl 3,600 9,000 25,400
OFEAMEt2E|AIAE 722 300,000& x12& 3,600
203 HRF4Hl 2,000 2,000 0
CIREETEE 2,000 2,000 0
OHsla s S=AIH F4 2,000,000& 2,000
301 YptEasg 74,240 74,240 0
05 -2l -BEEsEN3 70,880 70,880 0
O0l&=¢ 68,880
—Jl2=g 200,000& »21H «12& 50,400
— 4013 200, 00021 %212 x23] 8,400
—3|o &M 20,000 x218»23| 123 10,080
Ot &=l 50,000& 40 2,000
10 EALAHIEA S 3,360 3,360 0
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M X=H
ZH: HH2IZHI(X=2H)(IIEH/IIEH
Rl JlEdl (el &
A B S(E) - NRAY - BES 0f & o e HIDZ2
ANEZ 43,0003 22 86
ek 25,0003 »1CH»23] 50
Od =l 6,849
— A2 A 1,300 *1.7 £ «BAI 2H*30Hx100L 5,304
—=44 1,300 +4.95 £ «BAI 2tx30L 1,545
Oxtes A 4,150
—adg} 3,450,000 = 1CH 3,450
—28= 350, 0003 »2CH 700
OXtS XAl 30,000 = 1CH 30
202 OH] 40,600 40,600
01 2O 40,600 40,600
OZ A 200,000& x14& =123 33,600
OZ2l ¢ 50,0003 *14H *10 7,000
203 LR =& 10,160 10,200
01 V223 g FFAHI 6,600 6,600
osd 6,600,000& 6,600
02 Rt R=a| 560 600
Od It R =4H| 40,0002 *14& 560
04 FA2SERFIH 3,000 3,000
ORANEEgRFaI 250,000 «12& 3,000




